MY F X ERAG

SHENYANG GUANGYU KE JI YOUXIAN GONGSI




B

CPC
HK
R

T
TSUBAKI
H

KBS
NSK
NTN

KHK

HSK
TAC

KURODA
PANASONIC

SAMICK
THOMSON

HIWIN
HIT
NB
SITI

STAR
TPG

SBC
CCvi
TYC

ABBA

JMC
IKO
GTR

HIOS

mmmmmmm -.. N mm-mm-M..--
i e e RRadStaRa: e

A ﬁﬂﬁﬂﬂ.—?—ulr—m-nnﬁrﬁﬂﬂ.n HHHHH




SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

SBC

U 0 :024-31992640 [ [J:024-31992740

O O :http://lwww.31992640.com



SHENYANGGUANGYUKEJIYOUXIANGONGSI

(SBG/SBS)

(SPG/SPS)

U 0 :024-31992640 [ [J:024-31992740

-(SBG/SBS)
(SPG/SPS)

O O :http://lwww.31992640.com



< 3BC

15,20,25 35

e

SHENYANGGUANGYUKEJIYOUXIANGONGSI

YaYaY . YayY.V Y LY
DOLOO0O000 OOOGVOODOC

gooooooboooog

f&-D

U 0 :024-31992640 [ [J:024-31992740 O O :http://www.31992640.com

-
—>




SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

®
®
)

®
®

OO

YOLVOLVOLVOLVOVOL

( )
®
®
(SUS304)

®

U 0 :024-31992640 [ [J:024-31992740

O O :http://www.31992640.com



“  3BC

Co(kgf)
8 Co
g 1/10000 Co
% fs
’ 5 fs : HERRM
P 2 fs Co: FEAHF 13K (kof)
0 Po: hififadkx (Kdf)
Clkaf]
C 90% 50km
5
L[km]
90%
_, C 5
5= P )X 50Km L1 =50 Km

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

goog

SBC

F=p P+f

Fo R (kgf)
v R

P: fi# (kgf)
fo R (kgf)

0.2~3.5(Kgf)
- ~N
0.015
\
\
\
0.010 ‘\
1\
TN
\ N\
0.005 =
N
(1)
0
(PIC) 0 0.1 0.2(kgf)
P.
c
N Y,
u
SBG SBS SBM 0.002~0.003

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“ SBC

SHENYANGGUANGYUKEJIYOUXIANGONGSI

HEREREN
SBC LAE) 4 5)6)(7) (8)
(€)) ©)] ®) @)
@) %) ) ®)
e N\
6) ®) C )
&) - -
| | . z
@ )
| |
7
@)
\—B @IJ Q) ®) @)
@ )
g J

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“  3BC

goog

ISONOONVIXNOAICIHNNADNYNOONVANIHS

O O :http://lwww.31992640.com

U 00 :024-31992640 0 [J:024-31992740



“ SBC

goog

1.0000n

SBC

ISONOONVIXNOAICIHNNADNYNOONVANIHS

L+0.5

@K 0.4) x

L+0.5

$0.4] x

D
D

12 [1-2

11 11

O O :http://lwww.31992640.com

U 00 :024-31992640 0 [J:024-31992740



“  3BC

HRERERN
R
gooooooooooooooobooooooooooobooooooobooooooooo
- ~N
AT
. i 7
< Hi| R R
7z W)
;
% g Y,
R E
H1 H2
15 0.5 4 2 2.65
10 20 0.5 5 2.5 3.5
25 1.0 5 3.5 5
30 1.0 5 45 6.5
35 1.0 6 6 7.5
45 1.0 8 8 9.8
55 1.5 8 8 9.8
65 1.5 10 10 17.5

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

goog

11

SHENYANGGUANGYUKEJIYOUXIANGONGSI

1.00000b0ooo

Ve

15

20

25

30

35

45

55

65

SBC
(P)
¢ )

K1 K2 K3
25 18

25 20 18
30 22 20
40 30 27
50 35 30
60 40 35
70 50 45
80 60 55

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com




12

SHENYANGGUANGYUKEJIYOUXIANGONGSI

O0OdQd
2. - X"
4
w w |
| ‘j s
a
-
« )
K2 K3
Ky (0.05C) (0.08C)

Y 0.0004 0.00026 0.00017

Sx=axy¥ Sl (mm)
a (mm)
Y:
3.000000000000000-"Y"

| |

| — 1 [ W

= —)

1 1 S»

b
\§
Sy= bx0.00004 S$2:.0000000 (mm)
boOODOO0ODOOOO (mm)

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com




“  3BC

goog

SHENYANGGUANGYUKEJIYOUXIANGONGSI

13

N.cm

M2 | M23 | M26 | M3 | M4 | M5 | M6 | M8 | MI10 | M12 | M14 | M16

() 58.8 | 78.4 | 117.6 | 196 | 392 | 784 | 1274 | 2940 | 6762 | 11789 | 15680 |19600
() 39.2 | 58.8 | 784 |127.4 |274.4 | 588 |921.2 | 2009 | 4508 | 7840 | 10496 13093

() 294 | 392 | 588 | 98 |205.8 | 441 | 686 | 1470 | 3332 | 5880 | 7840 | 9800

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



< 3BC

ooooon

W : (N) vn: (mm/sec)
Ln: (mm) Pnt: (N)
F: (N) Pn:

Rn: (N)

g : (mm/sec?)(g=9.8x103)

SHENYANGGUANGYUKEJIYOUXIANGONGSI

p= W, b, Wee
h 4 2L 2Lz
g w 04 Wi
Pe= 7~ %L * 2
| 4
‘ : ‘ Ps= w 21 We»
4 2L, 2L
14
W] W WO Wi
P4— - - Y
[ ] 4 2L1 22
s Ame—
I (mm/sec) .
- - PEAERSP. - p,— =4
g Y Y ° & ~
F
T w S _ W VWwis
et e L Pi=Ps= 4+ Tolgt
‘ L1 ‘ e tz ta | (se0) P W VWwis
Yo 4 2Ligt
W VW/E 3
W r = s L =
I T — gi= Py Y VWL
—— T
_F. w VW03
[ X = Be
Pa=Fe= 7 2Ligt

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



< 3BC

ooooon

—H F>1=P2=P3=P4=%x!|_é2

P1P2

Pit Patt P, = P; = ﬂ + M

7 y - L ST
P3P4

w o wh

Pat Patt Poy=Py= — - —

o a= =g T oL

SHENYANGGUANGYUKEJIYOUXIANGONGSI

Pi= Pp= Po= Py= £
w/
7 P = Py = Py= Py = 2|_12
15 ‘
—»Pz« —;P‘u aF — P2P4 | [T
e =:Mg
i i |
S——
W R s
Pi= Pp= Pa= Py= = 4+ — x 2
Y w ‘T + z X5
W R RY
Pr=Pa= 3t 7 * oL,
W R R
Pa=Pa= 4 4 - 5
w w| 1

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



16

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

Doooooo
Lo féo (N)
Po Po: (N)
fs

1~1.3
2-1.3
1~1.3
2.5~5

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“  3BC

ooooon

g 3 1 P1

% Pm= 4\/T (P13' L +P23.L2+ ....+Pn3. Ln ) Q Pm

§ T k P.

g Pm: (kgf) i A

§ Pn: (kgf) et L -
3 L: (mm)

% Ln: (mm) L, L 13

Pm= %(Pmin+2 * Pmax)

17 ;
load #;
P
Pmax: (kgf) Prin
Pmin: (kgf)
a)Pm=0.65 Pmax [Poggs b)Pm= 0.75 Pmax Pmax
T l__Pm_____ /[ _____ 4 T
load p load jé

P

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

L: (km)
_ ffife, C\3 c (ko)
L=( tw pe) - S0(km) 1I:’c: (kgf)

H:

fr:

fc:

fw:

goboboooooboboooboboooobbooooboooobobbuooobbooobobooobobo
goo

SHENYANGGUANGYUKEJIYOUXIANGONGSI

Lx103 Lh: (h)

2x1sxn1x60 Is:  (m)
nl:

Lh =

1.0 —]

18 100 0.9 "
fr

/

0.8

0.7

0.6

0.5

100 150 180( )

1.0
X fi 09 |\

0.8 \\

HRC58-60 SBC 0.7
HRC60 0.6

0.5
\
0.4 \

0.3
0.2
0.1

H}

60 50 40 30 20 10
(HRC)

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



19

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

X fc
c
fc
1 1.00
2 0.81
s 0.72
< 0.66
S 0.61
X fw
P=fw -Pc
P Pc: (kgf)
w: V:  (m/min)
V) (G) fw
V  15m/min G 05 iy W
15<V  60m/min 0.5<G 1.0 1.5~2.0
1.0<G 2.0 235

V>60m/min

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“  3BC

1.
SBG30 FL-2-K2-1600L - Il 00000 Co=5,490 Kof
00000 C=2,980 Kgf
L2
~ W.R i |
% \ l 7[j [j
g P13 | o | P24 L1 W ®F
W = 300 Kgf
F =300 Kgf Lo = 1,000 mm( : )
V =0.36 m/s L2 =200 mm( : )
Ls =1,000 mm L3 =200 mm
12,000 hr(8hr x 300 days x 5 years)
20 : 30 per min
2.
W R R_ L W, R R_UL
Piz=—+ —=-—-—= — =t ——— e
S o Pre= gt a2 X,
3 (fs)
Colg R A -
i < Co = 5,490 Kgf
Po Pmax = 180 Kgf
(fs) =30.5
4.
| 4
] L x 10° < Lh=12,000 hr
" 2 xggx nix60 Ls=1m
n1 =30 per min
L =43,200 Km
| 4
L, = ( C ) x50 (Km) < (€ =2,980 Kgf
fux P P =180 Kgf
fw = 1.5 (LR %)
L =67,220 Km
5.
SBG30FL

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

21

SHENYANGGUANGYUKEJIYOUXIANGONGSI

%A 4G
o Oo00oO0ooOooooooon XY
NC
K2 z
X-Y
z
K3
SBG/SBS
BAQT e
K1 K2 K3

15 4~+12 -12~-4
20 5~+2 -12~5 -23~-14
25 6~+4 -16~-6 -26~-16
30 7~+4 -19~-7 -31~-19
35 8~+4 -22~-8 -35~-22
45 -10~45 -25~-10 -40~-25
55 -12~45 -29~-12 -46~-29
65 -14~+7 -32~-14 -50~-32

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



22

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

NH P
BN um
oooo
N H P
H w2 +100 +40 +20
H W2 30 15 7
C D
4 R\
@ 1 i 50
(km) A 40 N
H ‘ AC 30 L —1 H
AD 20 w_ =)
10 = ]
0 0 1000 2000 3000 4000 5000
(mm)
G %

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“  3BC

SHENYANGGUANGYUKEJIYOUXIANGONGSI

23

ooooog

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

24

SHENYANGGUANGYUKEJIYOUXIANGONGSI

CRG50(NTG )

-40 -~250
CRG50
1.
2.
3.
4. (-40 ~250 )

CRG50

25 ) 248

260

(99 22h)% 0.11

(150 22h)% 0.57

(99 24h)% 0.5

150 5.54

(99 24h)% 0.015

mm2/s 100 11.28

(220 rpm 392N 1h) 0.57

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



25

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SB-10
100

SB-10

CRG-50 CRG-51 CRG-52

SB-40

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“  3BC

26

SHENYANGGUANGYUKEJIYOUXIANGONGSI

12

14

27

13

(hexagon wrench blot)
~
PT 1/8

15.5

12x12

12
14

20

C7
PT 1/8 | |

M6x0.75 N

SBG15SLO FL

SBG45SLU FL
SBG55SL0O FL
SBG65SLO FL
SBGA45SLLO FLL
SBG55SLLO FLL
SBG65SLLO FLL

SBG45SLO FL
SBGS55SLO FL
SBG65SLLO FL
SBGA45SLLO FLL
SBGS55SLLO FLL
SBG65SLLO FLL

a4

SBG20SLO FL
SBG25SLO FL
SBG30SLO FL
SBG35SLO FL
SBG20SLLO FLL
SBG25SLLO FLL
SBG30SLLO FLL
SBG35SLLO FLL

U 00 :024-31992640 0 [J:024-31992740

6.5

M6x0.75 /

(hexagon wrench biot)

M6x0.75

12x12

SBG20SLO FL
SBG25SL0 FL
SBG30SLO FL
SBG35SLO FL
SBG20SLLO FLL
SBG25SLLO FLL
SBG30SLLO FLL
SBG35SLLO FLL

SBG20SLO FL
SBG25SLO FL
SBG30SLO FL
SBG35SLO FL
SBG20SLLO FLL
SBG25SLLO FLL
SBG30SLLO FLL
SBG35SLLO FLL

a4

PT 1/8

PT1/8 /

20

SBGA45SLL FL
SBG55SLO FL
SBG65SLL FL
SBG45SLLO FLL
SBGS55SLLO FLL
SBG65SLLO FLL

¥ SBS SBG

O O :http://lwww.31992640.com




SHENYANGGUANGYUKEJIYOUXIANGONGSI

27

SBC

1.00000

(FL FLL FV) (FL FLL FV)
X FL FLL FV (15,20,25,30 35) FS 45,55 65 FS
X SL SLL SV FS
2
SBG
a R
M
- : N - .
\I [/
Iy’
M
- %

U 0 :024-31992640 [ [J:024-31992740

O O :http://lwww.31992640.com



< 3BC

SBC
SBG SBS SBM
s ™
g
;
£
g ~ Y,
1.
SBG/SBS

28

U 0 :024-31992640 [ [J:024-31992740 O O :http://www.31992640.com



“  3BC

oobooooboooooo

gooooo

DD 7z KK
SBGI5FL 60.8 66.8 65.2 714
29 SBG20FL(SL) 77.2 83.6 82 88.4
SBG20FLL(SLL) 93.2 99.6 98.6 105
SBG25FL(SL) 86.9 93.3 92.2 98.6
SBG25FLL(SLL) 106.4 1128 112.3 118.7
SBG30FL(SL) 1025 107.1 104.9 1095
SBG30FLL(SLL) 125 129.6 127.4 132
SBG35FL(SL) 1126 117.2 115.8 120.4
SBG35FLL(SLL) 138.1 142.7 1413 145.9
SBG45FL(SL) 140.4 1451 142.7 1475
SBGA5FLL(SLL) 172.4 177.1 174.7 1795
SBG55FL(SL) 164 170 169 175
SBGB5FLL(SLL) 202 208 207 213
SBG65FL(SL) 195.2 201.2 198 204
SBG65FLL(SLL) 255.2 261.2 258 264

¥ SBS SBG

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“ SBC

2.MF
SBC ¢ !

SHENYANGGUANGYUKEJIYOUXIANGONGSI

30
SBC" ”

SBC“ " SBC“ ”

seCcr0popoooo*oooooobooobo200obobooboooogooooooobooboooDoo
ooboobooogobooooobooboooobobooooboboooobobooooboobobooooboon
goboobooboboobuooboobobooboobooboobooboobooboobooobon
ooooOoobOoOoooOooooboOobooooooosecpoooooboooooooooboooDoobooon
ooboobooooobobooooobooobooooobooo

SBC* " SBC
> MF > MF SBG25FL-SL

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



31

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com

> :SBG25FL-MF-2-K1-10000 (MF= )
> MF BN
NSB(S)15 | SBG(S)20 | SBG(S)25 | SBG(S)30 SBG(S)35
1.66 2.15 3.04 3.43 3.42
MF 1.61 4.21 6.37 7.06 7.35
SPG(G)20,25,35 MF
-
W LMF
@D L
/ T T
& @ @ o pl L o
"o g 3 = @ [D
L T
» MF
MF ‘mm) LM ( :mm)
LM LMF
NSB/S 15MF 33 7 18.5 35 60.8 74.8
SBG/S 20MF 43 8 24 6.5 77.2 93.2
SBG/S 25MF a7 8 26.1 6.5 86.9 102.9
SBG/S 30MF 59 8 34.5 6.5 102.5 118.5
SBG/S 35MF 68 8 40 6.5 112.6 128.6
NSB(S)15 E SBG(S)15




32

SHENYANGGUANGYUKEJIYOUXIANGONGSI

3.
5mm
(SBG-SL,SLL,SBS-SL,HL,SLL,HLL,SV )
4,
a S\
LN\ H
D
<« >
_ /
D H
RC-15 SBG/SBS 15 7.9 1
RC-20 SBG/SBS 20 10 2.7
RC-25 SBG/SBS 25 11.3 2.6
RC-30 SBG/SBS 30,35 14.4 3.4
RC-45 SBG 45 20.4 4.4
RC-55 SBG 55 23.5 55
RC-65 SBG 65 26.5 55

0 00:024-31992640 U U

024-31992740

O O :http://lwww.31992640.com



“  3BC

88

SHENYANGGUANGYUKEJIYOUXIANGONGSI

5,
SH25 — 70 / 420
(Lmax) Lmin = S0 (a: )
(Lmin)
SBG25
. A
: i Lmax
- m P b1 S Lo
©
() o o /4 w w
b, s ° [ roy I I /f =Y Uk
{"H [ %{}z L (/ ﬁé%
a t1
Sx
SBG SBS SBG SBS
W H P s bl b2 0 13 t4
FL SL HL aa s 4 sve HI
SLL FV
LL SLL gy HLL FLL SLL SLL FV HLL
SH15 55 27 15 6 2 6 6 13 45 85 45 45 10 M4x8  M2x7
SH20 66 32 17 55 55 75 75 20 . 6 4 4 6 8 M3x6 M2x8
SH25 78 38 20 85 45 10 10 7 35021 - 45 85 4 4 7 10 8 M3x6 thzxfg
SH30 84 42 20 7 4 7 34 85 115 85 11 10 M4x8 M3x8
SH35 88 43 20 25 25 39 14 95 165 95 23 M4x8  M3x8
SH45 100 51 20 68 20 55 156 29 M5x10 M4x12
SH55 108 54 20 80 26 6.25 16.25 35 M5x10 M5x15
SHE5 132 68 20 100 32 85 85 42 M6x12 M6x18

U 00 :024-31992640 0 [J:024-31992740

SBG15
SBS15

SBG20
SBS20

SBG25
SBS25

SBG30
SBS30

SBG35
SBS35

SBG45

SBG55

SBG65

O O :http://lwww.31992640.com



34

SHENYANGGUANGYUKEJIYOUXIANGONGSI

ST
ST ( )
ST

® ST

® ( ) (

® ST SUS304
® ST

® ST

ST
1)

(2 ST

®3)

4) 3-4
(5) 4-6

U 0 :024-31992640 [ [J:024-31992740

2-3mm

O O :http://www.31992640.com



85

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC
e ™\
| | |
| i i i
G F ‘ G
NG J
mm
SBG15 SBG20 SBG25 SBG30 SBG35 SBG45
SBS15 SBS20 SBS25 SBS30 SBS35 SBS45 SlEtey SEOGE
160 220 220 280 280 570 780 1270
220 280 280 440 440 885 900 1570
280 340 340 600 600 1095 1020 2020
460 460 460 760 760 1200 1140 2470
640 640 640 1000 1000 1410 1260 2620
820 820 820 1240 1240 1620 1380 2920
1000 1000 1000 1480 1480 1620 1500 3000
1240 1240 1240 1640 1640 1830 1620
1480 1480 1480 1800 1800 2040 1740
1600 1600 1600 2040 2040 2250 1860
2200 1840 1840 2200 2200 2460 1980
2080 2080 2520 2520 3000 2220
2200 2200 3000 2840 2580
3000 3000 3000 3000
F 60 60 60 80 80 105 120 150
G 20 20 20 20 20 22.5 30 35
3000 4000 4000 4000 4000 4000 4000 4000

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“ SBC

e -
g > ®
% P / ‘o
80 ( )
SBC
36 SBG(SBS) N

SBG15 | SBG20 | SBG25 | SBG30 | SBG35 | SBG45 | SBG55 | SBG65

1.96 2.548 3.92 7.84 11.76 19.6 19.6 34.3

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



37

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBG - SL

SBS- SL

SBS- FV

SBS- SV

U 0 :024-31992640 [ [J:024-31992740

O O :http://lwww.31992640.com



“  3BC

SBG 25 FL N R MF Zz 2 K1 1000 R B N Il

SBG
SBS

1,2,3,4

15
20
25)
30
35
45
55 K1
65 K2
K3

SHENYANGGUANGYUKEJIYOUXIANGONGSI

EL-
ELL-
SL-
SLL-
FV-

38 SV-

MF

o) anrd

DD +
7z +
KK + + + 1
* 15 n 2
nm 3
vV 4

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

1.
2.
. N
z| | i
smave w
g Lo
3 s
i
A\ %
mm
39
h2 G S
w1 H1 F Lmax kg/m
15 15 15 8 20 M5x0.8 60 3000 1.53
20 20 17.5 10 20 M6 60 4000 2.28
25 23 21.8 12 20 M6 60 4000 3.21
30 30 25 15 20 M8 80 4000 4.58
35 35 29 17 20 M8 80 4000 6.62
45 45 88 24 22.5 M12 105 4000 11.43

1KG=102kgsf

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

SBG-FL/FLL

40

SHENYANGGUANGYUKEJIYOUXIANGONGSI

K

Qm
le)

SBG15FL
SBG20FL
SBG20FLL
SBG25FL
SBG25FLL
SBG30FL
SBG30FLL
SBG35FL
SBG35FLL
SBG45FL
SBG45FLL
SBG55FL
SBGS5FLL
SBG65FL
SBGG5FLL

SBGI15FL
SBG20FL
SBG20FLL
SBG25FL
SBG25FLL
SBG30FL
SBG30FLL
SBG35FL
SBG35FLL
SBG45FL
SBGA45FLL
SBGS5FL
SBGS5FLL
SBGB5FL
SBG65FLL

U 00 :024-31992640 0 [J:024-31992740

24
30
30
36
36
42
42
48
48
60
60
70
70
90
90

2.65
3.5
3.5

6.5
6.5
7.5
7.5
7.3
9.8
9.8
9.8
17.5
17.5

15
17.5
17.5
21.8
21.8
25
25
29
29
38
38
45
45
58.5
58.5

W2

16
21.5
215
23.5
23.5

31

31

33

33
37.5
37.5
43.5
43.5
53.5
53.5

F

60
60
60
60
60
80
80
80
80
105
105
120
120
150
150

47 58.8
63 77.2
63 93.2
70 86.9
70 106.4
90 98

90 1205
100 109.5
100 135
120 136
120 168
140 160
140 198
170 189
170 249

dxDxh

4,5x7.5x5.3
6%9.5%8.5
6%9.5%8.5
7x11x9
7x11x9
9x14x12
9x14x12
9x14x12
9x14x12
14x20x17
14x20x17
16x23x20
16x23x20
18x26x22
18x26x22

il

Lo

G
BxJ M
38x30 M5
53%40 M6
53%40 M6
57x45 M8
57x45 M8
72x52  M10
72x52  M10
82x62  M10
82x62  M10
100x80 M12
100x80 M12
116x95 M14
116x95  M14

142x110  M16
142x110  M16

20
20
20
20
20
20
20
20
20
225
22.5
30
30
35
35

OMAX
3000
4000
4000
4000
4000
4000
4000
4000
4000
4000
4000
4000
4000
4000
4000

M4
M5
M5
M6
M6
M8
M8
M8
M8
M10
M10
M12
M12
M14
M14

C(N)

8330
14210
16905
20972
24667
29204
35300
38808
46070
61642
75597
91209
111847
147980
189140

L1 K

388 214
50.8 26.5
66.8 26.5
505 31
79 31
704 355
929 355
80.4 405
106  40.5
98  52.7
130 52.7
118  60.2
156  60.2
147 725
207 725

CN)
13426
25088
36554
39200
48069
53802
67904
68698
90405
110662
138552
156918
196666
240100
320460

M

7
22
29
36
44
60
75
96
126
202
250
344
427
629
834

RO

7.2

@3.5

9 M6x%0.75
9 M6x0.75
10 M6x0.75
10 M6x0.75
12 M6x0.75
12 M6x0.75
13 M6%0.75
13 M6x0.75

15
15
17
17
23
23

PT 1/8
PT 1/8
PT 1/8
PT 1/8
PT 1/8
PT 1/8

(kgf-m)

M

5
18
32
32
50
50
81
75
133
159
238
274
413
495
850

PO

Mo
5
18
32
31
49
49
80
73
131
157
235
270
405
484
830

(kg)
0.18
0.42
0.54
0.62
0.78
11
1.44
1.57
2.14
2.96
3.75
4.49
5.68
6.7
9.5

9.8
9.8
9.8
9.8
10.7
10.7
10.7
10.7
1
1
1
1
1
1

(kg/m)
1.45
2.2
2.2
31
31
4.45
4.45
6.4
6.4
11.25
11.25
15.25
15.25
23.9
23.9

1KG=102kgef

O O :http://lwww.31992640.com



“  3BC

SBG-SL/SLL
— M
|[§:m ,/MRO\ \ , LPO
||;@II 4-M x [ W LJ1
L \ B \ 1 ‘ | !
1 i T
[Tl i o PR g S
60 KTl@‘ In @ R * | [ : |-
® H N L —
. ? { : > ! 3 H1 | i ol ! I —
T e N ]
§ % W2 Wi1 | Lo |
3 |
g mm
s E W2 L1 K T
g H W L BxJ Mx| TT N

SBG15SL 28 265 95 34 58.8 26%26 M4x5 388 254 8 @35 8 5
SBG20SL 30 35 12 44 77.2 32x36 M5x8 508 265 8 M6x0.75 7 9.8
SBG20SLL 30 35 12 44 93.2 32x50 M5x8 668 265 8 M6x0.75 7 9.8
SBG25SL 40 5 125 48 86.9 35%35 M6x8 59.5 35 12 Mex0.75 105 9.8
SBG25SLL 40 S 128 4 48 106 35%50 M6x8 79 35 12 Mex0.75 105 9.8
SBG30SL 45 65 16 60 98 40x40 M8x10 704 385 12 M6x0.75 115 107
41 SBG30SLL 45 65 16 60 121 40x60 M8x10 929 385 12 M6x0.75 115 107
SBG35SL 55 75 18 70 110 50x50 M8x12 804 475 15 M6x0.75 165 10.7
SBG35SLL 55 75 18 70 135 50x72 M8x12 106 475 15 M6x0.75 165 10.7
SBG45SL 70 73 205 86 136 60x60 M10x17 98 627 15 PT1/8 205 11
SBG45SLL 70 73 205 86 168 60x80 M10x17 130 627 15 PT18 205 11
SBG55SL 80 98 235 100 160 7575 M12x18 118 702 18 PT18 22 1
SBGS5SLL 80 98 235 100 198 75%95 M12x18 156 702 18 PT18 22 11
SBG65SL 90 175 315 126 189 76x70 M16x20 147 725 23 PT18 15 11
SBG65SLL 90 175 315 126 249 76x120 M16x20 207 725 23 PT18 15 11

G (kgf:m)
w1 H F dxDxh Loy C(N) CoN) Moy My My (kg)  (kg/m)
SBG15SL 15 15 60 45x75x53 20 3000 8330 13426 7 5 5 02 145

SBG20SL 20 175 60 6x9.5x8.5 20 4000 14210 25088 22 18 18 033 22
SBG20SLL 20 175 60 6x9.5x8.5 20 4000 16905 36554 29 32 32 045 22

SBG25SL 23 218 60 7x11x9 20 4000 20972 39200 36 32 31 056 3.1
SBG25SLL 23 2138 60 7x11x9 20 4000 24667 48069 44 50 49 073 31
SBG30SL 28 25 80 9x14x12 20 4000 29204 53802 60 50 49 098 445
SBG30SLL 28 25 80 9x14x12 20 4000 35300 67904 75 81 80 128 445
SBG35SL 34 29 80 9x14x12 20 4000 38808 68698 96 75 73 163 64
SBG35SLL 34 29 80 9x14x12 20 4000 46070 90405 126 133 131 212 64

SBG45SL 45 38 105 14x20x17  22.5 4000 61642 110662 202 159 157 296 11.25
SBG45SLL 45 38 105 14x20x17 225 4000 75597 138552 250 238 235 375 11.25
SBGS5SL 53 45 120 16x23x20 30 4000 91209 156918 344 274 270 452 1525
SBGS5SLL 53 45 120 16x23x20 30 4000 111847 196666 427 413 405 5.68 15.25
SBGG5SL 63 585 150 18x26x22 35 4000 147980 240100 629 495 484 743 239
SBG65SLL 63 585 150 18x26x22 35 4000 189140 320460 834 850 830 121 239
1KG=102kgef

[J [0 :024-31992640 [1 [J:024-31992740 O O :http://www.31992640.com



“  3BC

SBS-SL/SLL

42

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBS15SL
SBS20SL
SBS20SLL
SBS25SL
SBS25SLL
SBS25HL
SBS25HLL
SBS30SL
SBS30SLL
SBS35SL
SBS35SLL
SBS45SL
SBS45SLL

SBS15SL
SBS20SL
SBS20SLL
SBS25SL
SBS25SLL
SBS25HL
SBS25HLL
SBS30SL
SBS30SLL
SBS35SL
SBS35SLL
SBS45SL
SBS45SLL

U 00 :024-31992640 0 [J:024-31992740

W1

15
20
20
23
23
23

28
28
34
34
45
45

15
17.5
17.5
21.8
21.8
21.8
21.8

25

25

29

29

38

38

- \ 5 \
ulli e
K PN
i/
E4@_< HL_J\_Q
w2 | wi |
W2
W L
95 34 58.8
12 44 77.2
12 44 93.2
12.54 48 86.9
126 4 48 106
125 48 86.9
125 48 106
16 60 98
16 60 121
18 70 110
18 70 135
205 86 136
205 86 168
F dxDxh
60 4.5x7.5%5.3
60 6x9.5x8.5
60 6x9.5x8.5
60 7x11x9
60 7x11x9
60 7x11x9
60 7x11x9
80 9x14x12
80 9x14x12
80 9x14x12
80 9x14x12
105 14x20x17
105 14x20x17

N L
5]
J
1 ‘ | !
“ —r———
| o P s : i »
H1 " i i o ‘ =f§
N i
Lo
mm
L1 K T
BxJ Mx| T1 N
26%26 M4x5 388 214 6 @3.5 4
32%x32 M5x7 50.8 245 75 M6x0.75 5 9.8
32x50 M5x7 66.8 245 75 M6x0.75 5 9.8
35%35 M6x8 59.5 28 8 M6x0.75 52 98
35%50 M6x8 79 28 8 M6x0.75 52 98
35%35 M6x8 59.5 31 11 M6x0.75 82 938
35x50 M6x8 79 31 11 M6x0.75 82 938
40x40 M8x10 704 355 12 M6x0.75 85 10.7
40x60 M8x10 929 355 12 M6x0.75 85 10.7
50x50 M8x12 80.4 405 15 M6x0.75 9.5 10.7
50x72 M8x12 106 405 15 M6x0.75 95 107
60x60 M10x10 98 52 15 PT1/8 205 11
60x80 M10x10 130 52 15 PT1/8 205 11
G (kgf-m)
L owax C(N) ClN) Moy My My (ko) (kg/m)
20 3000 8330 13426 7 5 5 0.2 1.45
20 4000 14210 25088 22 18 18 033 2.2
20 4000 16905 36554 29 32 32 045 2.2
20 4000 20972 39200 36 32 31 056 3.1
20 4000 24667 48069 44 50 49 0.73 3.1
20 4000 20972 39200 36 32 31 056 3.1
20 4000 24667 48069 44 50 49 0.73 3.1
20 4000 29204 53802 60 50 49 098 4.45
20 4000 35300 67904 75 81 80 128 445
20 4000 38808 68698 96 75 73 1.63 6.4
20 4000 46070 90405 126 133 131 212 6.4
225 4000 61642 110662 202 159 157 296 11.25
225 4000 75597 138552 250 238 235 375 11.25
1KG=102kgef

O O :http://lwww.31992640.com



o "] FF
4 =

; ; =7 ‘ 7=/
2 E L N — (L 1
& w2 W1 G T F ‘ ‘
Z Lo
g mm
s E W2 L1 K T
= H W L B M S T1 N

SBS15FV 24 265 16 47 42.9 38 M5 M4 229 314 72 @35 4 5
SBS20FV 28 35 215 63 54.2 53 M6 M5 278 245 7 M6x0.75 5 9.8
SBS25FV 33 5 235 70 62.6 57 M8 M6 35.2 28 7 M6x0.75 52 9.8

43 G (kgf-m)

Wi H F dxDxh Lose  CN)  CN) My Mo Mo (ko) (ka/m)
SBSISFV 15 15 60  45x75x53 20 3000 4488 7232 4 3 3 01 145

SBS20FV 20 175 60 6x9.5x8.5 20 4000 7654 13504 12 10 10 024 22
SBS25FV 23 218 60 7x11x9 20 4000 11290 21109 19 17 17 037 31

1KG=102kgef

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



44

SHENYANGGUANGYUKEJIYOUXIANGONGSI

Mro Meo
2MI, W N L
X B ‘ L
B N R ==
HoeEEn =] I s ] | S
HIK | HA ; E ‘ =/E
b | i ‘ = = ,,';
E "
w2 wi | G F
Lo
mm
E W2 L1 K T
H W L B Mx| Tl N
SBS15SV 24 265 95 34 429 26 M4x5 229 214 6 @3.5 4 5
SBS20SV 28 35 12 44 54.2 32 M5x7 2718 245 75 M6x0.75 5 9.8
SBS25SV 33 5 125 48 62.6 35 M6x8 35.2 28 8 M6x0.75 52 98
G (kgf-m)
Wi H F dxDxh Loww  CN)  CN) My My Mo (kg)  (kgim)
SBS15SV 15 15 60 45x7.5x53 20 3000 4488 7232 4 3 3 0.1 1.45
SBS20SV 20 175 60 6x9.5x85 20 4000 7654 13504 12 10 10 0.19 2.2
SBS25SV 23 218 60 7x11x9 20 4000 11290 21109 19 17 17 0.32 3.1

U 00 :024-31992640 0 [J:024-31992740

1KG=102kgef

O O :http://lwww.31992640.com



45

SHENYANGGUANGYUKEJIYOUXIANGONGSI

( ) SPG SPS

SPG

iogoRoReONe)

® -SPG  SPS

SBG SBS
(SPGISPS)

U 0 :024-31992640 [ [J:024-31992740

1520 25

SBG(S)-C

O O :http://lwww.31992640.com



46

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

SPG

( ) SPG

SPS

- mm o/, _
QIQ0AFIAIAS  E T EEEEED

00000000000o0g0ooo

goooooooooo

90

[dB(A)]

oood

1500mm/

U 0 :024-31992640 [ [J:024-31992740

O O :http://www.31992640.com



< 3BC

SPG ( )

( ) SPG SPS

SPG20 FL N R MF zz 2 K1 1000 R B N [l

L /L

Ko ( )
K1
K2
SPG 15,20,25 K3
SPS 15,20,25

SHENYANGGUANGYUKEJIYOUXIANGONGSI

=
=L
SL-
SLL-
FV-
SV-

47

MF

2
3

DD + vV 4

7z 1
KK + + +

L2 A s

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

SPG-FL/FLL

48

SHENYANGGUANGYUKEJIYOUXIANGONGSI

[

Qm
le)

SPG15FL
SPG20FL
SPG20FLL
SPG25FL
SPG25FLL
SPG30FL
SPG30FLL
SPG35FL
SPG35FLL

SPG15FL
SPG20FL
SPG20FLL
SPG25FL
SPG25FLL
SPG30FL
SPG30FLL
SPG35FL
SPG35FLL

U 00 :024-31992640 0 [J:024-31992740

24
30
30
36
36
42
42
48
48

2.65
3.5
3.5

6.5
6.5
7.5
7.5

15
17.5
17.5
21.8
21.8

25

25

29

29

W2

16
21.5
215
23.5
23.5

31

31

33

33

60
60
60
60
60
80
80
80
80

47 58.8
63 77.2
63 93.2
70 86.9
70 106.4
90 98
90 1205
100 109.5
100 135

dxDxh

4,5x7.5x5.3
6%9.5%8.5
6%9.5%8.5
7x11x9
7x11x9
9x14x12
9x14x12
9x14x12
9x14x12

BxJ

38x30
53x40
53x40
57x45
57x45
72x52
72x52
82x62
82x62

20
20
20
20
20
20
20
20
20

G ] F ‘
Lo |
mm
L1 K T
M S T1 N
M5 M4 388 214 7.2 @3.5 4
M6 M5 508 265 9 M6x0.75 7 9.8
M6 M5 668 265 9 M6x0.75 7 9.8
M8 M6 595 31 10 M6x0.75 6.5 9.8
M8 M6 79 31 10 M6x0.75 6.5 9.8
M10 M8 704 355 12 M6x0.75 85 107
M10 M8 929 355 12 WM6x0.75 85 10.7
M10 M8 804 405 13 M6x0.75 9.5 10.7
M10 M8 106 405 13 M6x0.75 95 10.7
(kgf-m)
LOMAX C(N) CO(N) MRO MPO MYO (kg)  (kg/m)
3000 8330 13426 7 5 5 018 145
4000 14210 25088 22 18 18 042 2.2
4000 16905 36554 29 32 32 054 2.2
4000 20972 39200 36 32 31 062 3.1
4000 24667 48069 4 50 49 0.78 3.1
4000 29204 53802 60 50 49 1.1 4.45
4000 35300 67904 75 81 80 144 445
4000 38808 68698 9% 75 73 157 6.4
4000 46070 90405 126 133 131 214 6.4

1KG=102kgef

O O :http://lwww.31992640.com



“  3BC

SPG-SL/SLL

49

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SPG15SL
SPG20SL
SPG20SLL
SPG25SL
SPG25SLL
SPG30SL
SPG30SLL
SPG35SL
SPG35SLL

SPG15SL
SPG20SL
SPG20SLL
SPG25SL
SPG25SLL
SPG30SL
SPG30SLL
SPG35SL
SPG35SLL

U 00 :024-31992640 0 [J:024-31992740

28
30
30
40
40
45
45
55
55

W1

15
20
20
23
23
28
28
34
34

p MRro
- \ 5 \
ulli e
HIK S
S/
E4@_< HL_J\_Q
w2 | wi |
E W2
W L4
265 95 34 58.8
35 12 44 77.2
35 12 44 93.2
5 125 43 86.9
5 125 48 106
6.5 16 60 98
6.5 16 60 121
75 18 70 110
7.5 18 70 135
H F dxDxh
15 60 4.5x7.5%5.3
17.5 60 6x9.5x8.5
175 60 6x9.5x8.5
21.8 60 7x11x9
21.8 60 7x11x9
25 80 9x14x12
25 80 9x14x12
29 80 9x14x12
29 80 9x14x12

Mpo
N L
]
J
1 ‘ | !
W g U Ul
‘ > 2 \ -
h - ! — =
Hi ! ‘ | =/§
| |
« ‘.Q_‘ ‘ 77 ‘
| F
Lo
mm
L1 T
BxJ Mx| T1 N
26%26 M4x5 388 254 8 @3.5 8 5
32x36 M5x8 50.8 26.5 8  M6x0.75 7 9.8
32x50 M5x8 66.8 26.5 8  M6x0.75 7 9.8
35%35 M6x8 59.5 12 M6x0.75 105 9.8
35%50 M6x8 79 12 M6x0.75 105 9.8
40x40 M8x10 704 385 12 M6x0.75 115 10.7
40x60 M8x10 929 385 12 M6x0.75 115 10.7
50%x50 M8x12 80.4 475 15 M6x0.75 165 10.7
50x72 M8x12 106 475 15 M6x0.75 165 10.7
G (kgf:m)
LOMAX C(N) CO(N) MRO MF,O M(o (kg)  (kg/m)
20 3000 8330 13426 7 5 5 0.2 1.45
20 4000 14210 25088 22 18 18 0.33 2.2
20 4000 16905 36554 29 32 32 045 2.2
20 4000 20972 39200 36 32 31 056 3.1
20 4000 24667 48069 44 50 49 0.73 3.1
20 4000 29204 53802 60 50 49 098 4.45
20 4000 35300 67904 75 81 80 128 4.45
20 4000 38808 68698 96 75 73 1.63 6.4
20 4000 46070 90405 126 133 131 212 6.4

1KG=102kgef

O O :http://lwww.31992640.com



“  3BC

SPS-SL/SLL

50

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SPS15SL
SPS20SL
SPS20SLL
SPS25SL
SPS25SLL
SPS25HL
SPS25HLL
SPS30SL
SPS30SLL
SPS35SL
SPS35SLL

SPS15SL
SPS20SL
SPS20SLL
SPS25SL
SPS25SLL
SPS25HL
SPS25HLL
SPS30SL
SPS30SLL
SPS35SL
SPS35SLL

U 00 :024-31992640 0 [J:024-31992740

W1

15
20
20
23
23
23
23
28
28
34
34

o \ 5 \
ulli e
HIK S
1/
E4@_< HL_J\_Q
w2 | wi |
E W2
W L4
265 95 34 58.8
35 12 44 77.2
35 12 44 93.2
5 12.5 48 86.9
5 12.5 48 106
5 12.5 48 86.9
5 125 48 106
6.5 16 60 98
6.5 16 60 121
7.5 18 70 110
7.5 18 70 135
H E dxDxh
s 60 4.5x7.5x5.3
175 60 6x9.5x8.5
175 60 6%9.5x8.5
21.8 60 7x11x9
21.8 60 7x11x9
21.8 60 7x11x9
21.8 60 7x11x9
25 80 9x14x12
25 80 9x14x12
29 80 9x14x12
29 80 9x14x12

Mepo
N L
L
J
1 ‘ | !
5 —rr—————
| o P s : i »
H1m* % i =l | =;Z§§
RO ]
LO 1
mm
L1 K T
BxJ Mx| T1 N
26x26 M4x5 388 214 6 @35 4
32x32 M5x7 508 245 75 M6x0.75 5 9.8
32x50 M5x7 66.8 245 75 M6x0.75 5 9.8
35x35 M6x8 59.5 28 8 M6x0.75 52 98
35x50 M6x8 79 28 8 M6x0.75 52 98
35x35 M6x8 59.5 31 11 M6x0.75 82 9.8
35x50 M6x8 79 31 11 M6x0.75 82 9.8
40x40 M8x10 704 355 12 M6x0.75 85 10.7
40x60 M8x10 929 355 12 M6x0.75 85 10.7
50x50 M8x12 804 405 15 M6x0.75 95 10.7
50x72 M8x12 106 405 15 M6x0.75 95 107
G (kgf-m)
Lows OGN My My My () (kgim)
20 3000 8330 13426 7 5 5 02 145
20 4000 14210 25088 22 18 18 033 22
20 4000 16905 36554 29 32 32 045 22
20 4000 20972 39200 36 32 31 056 31
20 4000 24667 48069 44 50 49 073 31
20 4000 20972 39200 36 32 31 056 31
20 4000 24667 48069 44 50 49 073 31
20 4000 29204 53802 60 50 49 098 445
20 4000 35300 67904 75 81 80 128 445
20 4000 38808 68698 96 75 73 163 64
20 4000 46070 90405 126 133 131 212 6.4

1KG=102kgef

O O :http://lwww.31992640.com



o "] FF
4 =

; ; =7 ‘ 7=/
2 E L N — (L 1
& w2 W1 G T F ‘ ‘
Z Lo
g mm
s E W2 L1 K T
= H W L B M S T1 N

SPS15FV 24 265 16 47 42.9 38 M5 M4 229 314 72 @35 4 5
SPS20FV 28 35 215 63 54.2 53 M6 M5 278 245 7 M6x0.75 5 9.8
SPS25FV 33 5 235 70 62.6 57 M8 M6 35.2 28 7 M6x0.75 52 9.8

51 G (kgf-m)

Wi H F dxDxh Lose  CN)  CN) My Mo Mo (ko) (ka/m)
SPSISFV 15 15 60  45x75x53 20 3000 4488 7232 4 3 3 01 145

SPS20FV 20 175 60 6x9.5x8.5 20 4000 7654 13504 12 10 10 024 22
SPS25FV 23 218 60 7x11x9 20 4000 11290 21109 19 17 17 037 31

1KG=102kgef

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



52

SHENYANGGUANGYUKEJIYOUXIANGONGSI

Mro Meo
2MI, W N L
X B ‘ L
B N R ==
HoeEEn =] I s ] | S
HIK | HA ; E ‘ =/E
b | i ‘ = = ,,';
E "
w2 wi | G F
Lo
mm
E W2 L1 K T
H W L B Mx| Tl N
SPS15SV 24 265 95 34 429 26 M4x5 229 214 6 @3.5 4 5
SPS20SV 28 35 12 44 54.2 32 M5x7 2718 245 75 M6x0.75 5 9.8
SPS25SV 33 5 125 48 62.6 35 M6x8 35.2 28 8 M6x0.75 52 98
G (kgf-m)
Wi H F dxDxh Lowx CN)  CN) My My M, (kg)  (kgim)
SPS15SV 15 15 60 45x7.5x53 20 3000 4488 7232 4 3 3 0.1 1.45
SPS20SV 20 175 60 6x9.5x85 20 4000 7654 13504 12 10 10 0.19 2.2
SPS25SV 23 218 60 7x11x9 20 4000 11290 21109 19 17 17 0.32 3.1

U 00 :024-31992640 0 [J:024-31992740

1KG=102kgef

O O :http://lwww.31992640.com



56

SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBMN

SBMW

LM

LM

>0

U 00 :024-31992640 0 [J:024-31992740

O O :http://lwww.31992640.com



“  3BC

g
;
\ -
% HA7Unitmm
= N H P
H w2 +0.04 +0.025 +0.015
0.03 0.02 0.01
H W2
C D cooono)
54
25 T n
20 —T
cC¥E ]
= 15 — l— H
10 al — |
D T
5 2l — P
. |

=
B um
K1 K2
SBMNS 9 /SBMWS 9 +2 -4~0
SBMNS 12 / SBMWS 12 +3 -6~0
SBMNS 15/ SBMWS 15 5 -10~0
SBMNS K1 K2

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



SHENYANGGUANGYUKEJIYOUXIANGONGSI

SBC

SuUS440C

SBMNS / SBMWS
N

SBMNS 9 |SBMNS 12 | SBMNS 15| SBMWS 9 | SBMWS 12| SBMWS 15

0.2 0.59 1.18 0.8 11 13

SBMNS (SBMWS)

R

[

|

R H1 H2 =
SBMNS9 0.3 3 1.9 2.2
SBMNS12 0.3 4 2 3
SBMNS15 0.3 5 2.5 4
SBMWS9 0.1 3 3.4 3.7
SBMWS12 0.3 4 3.7 4
SBMWS15 0.3 5 3.4 3.7

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



< 3BC

SBMNS

SBMWS

SHENYANGGUANGYUKEJIYOUXIANGONGSI

K1 K2

56
610mm

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

SBMNS / SBMWS
- ™
Eﬁ Z
G ! F .G
L
; N J
g mm
% SBMNS9 | SBMWS9 | SBMNS12 | SBMWS12 | SBMNS15 | SBMWS15
§ 55 50 70 70 70 110
' 75 80 95 110 110 150
95 110 120 150 150 190
115 140 145 190 190 230
135 170 170 230 230 270
> 155 200 195 270 270 310
175 260 220 310 310 430
195 290 245 390 350 550
275 320 270 470 390
395 320 550 430
515 370 470
595 470 550
595
F 20 30 25 40 40 40
G 7.5 10 10 15 15 15
610 610 610 610 610 610

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



“  3BC

SBMNS/SBMWS ()

m /MN Mro

| 1 | 4-Mxl w 4-Mxl W
> 5] B B
MYO*?* Lfa | i
N [l rml | T e © & IT
4 - 7 T K s I
) e W YET QY T A Jaspupnankidll
3 1 ] N
F4 ! ' E
g E W3
E : wz Wi w2 W1
% SBMW 15
% mm
E W2 W3 L1 T K T1
H W L BxJ M
SBMN(S)09 10 22 55 - 20 30.8 15x10 M3x3 18 35 78 23 @1
SBMN(S)12 13 3 4.5 - 27 37.6 20x15  M3x3.5 23 5 104 2.7 @1
SBMN(S)15 16 4 85 - 32 455 25%20 M3x4 29 6 12 31 @2.7
SBMW(S)09 12 KV - 30 42.3 21x12 M3x3 27 45 7.8 2 @1
58 SBMW(S)12 14 4 8 - 40 48.4 28x15  M3x3.5 30.9 5 10 24 @1
SBMW(S)15 16 8.7 49 23 60 57.5 45x20  M4x4.5 38.9 6 12 26 @2.7

G (kgf-m)
W1 H " dxDxh Lowax SPON) CoN) Moy My My (kg)  (kg/m)
SBMN(S)09 9 55 20  35x6x33 7.5 610 1420 2900 1.06 052 052 0.02 032
SBMN(S)12 12 7.5 25  35x6x45 10 610 2450 3626 15 082 089 003 06
SBMN(S)15 15 9.5 40  35x6x45 15 610 4018 5978 38 168 183 006 0.01
SBMW(S)09 18 75 30 35x6x45 10 610 2450 3920 367 1.66 166 0.03 0.99
SBMW(S)12 24 85 40  48x8x45 15 610 4020 6080 486 175 19 006 142
SBMW(S)15 42 9.5 40  48x8x45 15 610 6660 9800 14 36 39 012 293

1KG=102kgef

U 00 :024-31992640 0 [J:024-31992740 O O :http://www.31992640.com



"

=~ -
#ﬁ'
HESH

4

UH D B
=Y En ‘*
% 3,9
= ﬁ%fwg 7
Y & o Y7
5y ;f s‘;‘??“%"f?
(- 7

KT, A&

=c= [Hom
B0
LSHE S
HR. 5% B i i85 & +FH B R B ET
(il -4 I“k\ ..',
wiy 4 > @ e 6
\ ~“HE S
wois | Qe e | D B
\-J ! \ -~ = > -/
L R AL AL T3 1) R Bk BB SR
"=y > g T
s 8 ] \‘ f- B J : b
’ - _ﬂ’[-. . "\
[ swe | THY
b - — o — - I - :
ZihEs P2 BX S = Bk R HEBEENE

) @ ;,;ﬂ @73
@80 | =

Eehd B B&H

&

y 4
¢g, O

mkEE. mAE

X FRFHBERAHE

ik TTEAETHRERXKEHI55306
FBBif: 024-31992640

f£H: 024-31992740

Mk : http://www.31992640.com
E-Mail:xugy @tom.com




	P1
	P2
	P3
	P4
	P5



